CHARACTERIZATION OF THE KUKLES POLYNOMIAL DIFFERENTIAL SYSTEMS HAVING AN INVARIANT ALGEBRAIC CURVE

JAUME LLIBRE¹ AND CLAUDIA VALLS²

ABSTRACT. Let f(x) and g(x) be complex polynomials. We characterize all Kukles polynomial differential systems of the form

$$x' = y, \quad y' = -y^2 - f(x)y - g(x)$$

having an invariant algebraic curve. We show that expanding an invariant algebraic curve of these differential systems as a polynomial in the variable y, the first four higher coefficients of the polynomial defining the invariant algebraic curve determine completely these Kukles systems. In particular if the second and third higher coefficients of the polynomial defining the invariant algebraic curve satisfy a simple relation between them the invariant algebraic curve is of the form $(y + p(x))^n = 0$ for some polynomial p(x) and y + p(x) = 0 is an invariant algebraic curve of the Kukles system for any complex polynomial f(x).

1. INTRODUCTION AND STATEMENT OF THE MAIN RESULTS

Consider the Kukles system

$$x' = y, \quad y' = -y^2 - f(x)y - g(x),$$
 (1)

where $f(x), g(x) \in \mathbb{C}[x]$, being $\mathbb{C}[x]$ the ring of polynomials in the variable x with coefficients in \mathbb{C} . Moreover we assume that f and g are not the zero polynomial. We also assume that system (1) has an invariant algebraic curve F(x, y) = 0, that we write as

$$F(x,y) = \sum_{j=0}^{n} a_j(x) y^{n-j}, \quad a_0(x) \neq 0, \ n \ge 2.$$
(2)

Without loss of generality we can assume that the coefficient of the highest degree of $a_0(x)$ in the variable x is 1, because we can always divide the invariant curve by such highest coefficient.

²⁰¹⁰ Mathematics Subject Classification. Primary 34A05, 34C05, 37C10.

Key words and phrases. Kukles polynomial differential systems, invariant algebraic curve.

We recall that a polynomial F(x, y) = 0 is an *invariant algebraic curve* of system (1) if it satisfies

$$y\frac{\partial F}{\partial x} - (y^2 + f(x)y + g(x))\frac{\partial F}{\partial y} = KF,$$

for some polynomial K = K(x, y) called the *cofactor* of F.

The invariant algebraic curves are crucial elements in the study of the qualitative theory and integrability theory of the polynomial differential systems (see for instance [2, Chapter 8] and the references therein). In fact the existence of several invariant algebraic curves is a measure of the integrability of a polynomial differential system. The invariant algebraic curves are the main elements in the Darboux theory of integrability. This theory was started by Darboux [4], and developed later on for several authors as [1, 2, 3, 6, 7, 8, 9, 10, 11].

We introduce the main result of this paper.

Theorem 1. Assume that the Kukles system (1) has an invariant algebraic curve F(x,y) = 0 of the form (2) with $n \ge 2$. Then $K(x,y) = K_0(x) + yK_1(x)$, $a_0(x) = 1$, $K_1(x) = -n$, $K_0(x) = a'_1(x) + a_1(x) - nf(x)$, and

$$g(x) = \frac{-a_1(x)a_1'(x) + a_2'(x) - a_1^2(x) + 2a_2(x) + a_1(x)f(x)}{n}.$$
 (3)

Moreover the following hold:

(a) If $(1-n)a_1(x)^2 + 2na_2(x) \neq 0$, then (a.1) if n = 2, write $a_2(x) - a_1^2(x)/4$ in irreducible polynomials as

$$a_2(x) - a_1^2(x)/4 = \alpha \prod_{j=0}^r (x - x_j)^{\beta_j},$$
(4)

for some $\alpha \in \mathbb{C}$, $r \geq 1$ and positive integers β_j . Then there exists $Q(x) \in \mathbb{C}[x]$ such that

$$f(x) = \frac{a_1'(x)}{2} + a_1(x) + \frac{1}{4}Q(x)\sum_{j=0}^r \beta_j \prod_{k=0, k\neq j}^r (x - x_k),$$

and

$$a_1(x) = Q(x) \prod_{j=0}^r (x - x_j);$$

(a.2) if $n \geq 3$, then

$$f(x) = -\frac{A(x)}{(1-n)a_1(x)^2 + 2na_2(x)},$$

where

$$A(x) = na'_{3}(x) + 3na_{3}(x) + (n-1)a_{1}(x)^{2}a'_{1}(x) - (n-1)a_{1}(x)a'_{2}(x) + (n-1)a_{1}(x)^{3} - (3n-2)a_{1}(x)a_{2}(x) - na'_{1}(x)a_{2}(x),$$

and $(1-n)a_1(x)^2 + 2na_2(x)$ must divide A(x). (b) If $(1-n)a_1(x)^2 + 2na_2(x) = 0$, then

$$F(x) = \left(y + \frac{a_1(x)}{n}\right)^n,$$

and f(x) is an arbitrary polynomial of $\mathbb{C}[x]$.

Theorem 1 is proved in section 2. Note that it characterizes completely the possible invariant algebraic curves of system (1) when $(1 - n)a_1(x)^2 + 2a_2(x)n = 0$. In this case, there is a unique possible invariant algebraic curve which is irreducible and it is an invariant algebraic curve of system (1) for any $f \in \mathbb{C}[x]$. In other words, the first two coefficients of the invariant algebraic curve determine completely the invariant algebraic curve for any system (1) independently of $f(x) \in \mathbb{C}[x]$ and $g(x) = -\frac{1}{n}(a_1(x) + a'_1(x)) - \frac{1}{n}f(x)$ for any $f \in \mathbb{C}[x]$.

As a concrete example of the application of Theorem 1 in the following proposition we characterize all the Kukles system (1) which has an invariant algebraic curve F(x, y) = 0 of the form (2) with n = 2 as in the statement (a.1) of Theorem 1 and being $a_i(x)$ for i = 1, 2 polynomials of degree two in the variable x.

Proposition 2. Assume that the Kukles system (1) has an invariant algebraic curve F(x, y) = 0 of the form (2) with n = 2, with $4a_2(x) - a_1(x)^2 \neq 0$ and $a_i(x) = \sum_{j=0}^2 a_{ij}x^j$ for i = 1, 2.

- (a) If $a_{12} \neq 0$, then $f(x) = a_{12}x^2 + (a_{11} + 2a_{12})x + a_{10} + a_{11}$ and $F(x, y) = y^2 + (a_{10} + a_{11}x + a_{12}x^2)y;$
- $F(x,y) = y^{2} + (a_{10} + a_{11}x + a_{12}x^{2})y;$ (b) If $a_{12} = 0$, then we have (b.1) $f(x) = a_{11}x + \frac{1}{2}(2a_{10} + a_{11})$ and $F(x,y) = y^{2} + (a_{10} + a_{11}x)y + \frac{a_{11}^{2}}{4}x^{2} + \frac{a_{10}a_{11}}{2}x + a_{20};$ (b.2) $a_{11} \neq 0$, $f(x) = a_{11}x + \frac{1}{4}(4a_{10} + 3a_{11})$ and $F(x,y) = y^{2} + (a_{10} + a_{11}x)y + \frac{a_{11}^{2}}{4}x^{2} + a_{21}x + \frac{4a_{10}a_{21} - a_{10}^{2}a_{11}}{4a_{11}};$ (b.3) $f(x) = a_{10}$ and $F(y) = y^{2} + a_{10}y + a_{20};$ (b.4) $a_{11} \neq 0$, $f(x) = a_{11}x + a_{10} + a_{11}$ and

$$F(x,y) = y^{2} + (a_{10} + a_{11}x)y + a_{22}x^{2} + \frac{2a_{10}a_{22}}{a_{11}}x + \frac{a_{10}^{2}a_{22}}{a_{11}^{2}}$$

The proof of Proposition 2 is given in section 3.

Similar results obtained for the generalized Liénard differential systems x' = y, y' = -f(x)y - g(x) can be found in [5].

J. LLIBRE AND C. VALLS

2. Proof of Theorem 1

We separate the proof of Theorem 1 into different lemmas.

4

Lemma 1. Assume that the Kukles system (1) has an invariant algebraic curve F(x, y) = 0 of the form (2) with $n \ge 2$. Then K(x, y), $a_0(x)$, $K_1(x)$, $K_0(x)$ and g(x) are as in the statement of Theorem 1.

Proof. Let F(x, y) = 0 be an invariant algebraic curve of system (1) as in (2). Then we have

$$\sum_{j=0}^{n} a'_{j}(x)y^{n+1-j} - \sum_{j=0}^{n} (n-j)a_{j}(x)y^{n-j+1} - \sum_{j=0}^{n} (n-j)a_{j}(x)y^{n-j}f(x) - \sum_{j=0}^{n} (n-j)a_{j}(x)y^{n-j-1}g(x)$$
(5)
$$= \left(\sum_{l=0}^{s} K_{l}(x)y^{l}\right) \left(\sum_{j=0}^{n} a_{j}(x)y^{n-j}\right).$$

Note that it follows from (5) that $s \leq 1$. Therefore $K(x, y) = K_0(x) + K_1(x)y$.

Computing the coefficient of y^{n+1} in (5) we get

$$a'_0(x) - na_0(x) = K_1(x)a_0(x)$$
 that is $a'_0(x) = (K_1(x) + n)a_0(x)$.

Since $K_1(x)$ must be a polynomial we must have that $a_0(x)$ is constant and so $a_0(x) = 1$. Moreover $K_1(x) = -n$.

Computing the coefficient of y^n in (5) using that $a_0(x) = 1$ and $K_1(x) = -n$ we get

$$a_1'(x) - (n-1)a_1(x) - nf(x) = K_1(x)a_1(x) + K_0(x) = -na_1(x) + K_0(x),$$

which yields $K_0(x) = a'_1(x) + a_1(x) - nf(x)$. Computing the coefficient of y^{n-1} in (5) we get

$$a_2'(x) - (n-2)a_2(x) - (n-1)f(x)a_1(x) - ng(x)$$

= $-na_2(x) + (a_1'(x) + a_1(x) - nf(x))a_1(x),$

which provides g(x) given in (3). Note that since f is a polynomial, so it is g.

Lemma 2. Assume that the Kukles system (1) has an invariant algebraic curve F(x,y) = 0 of the form (2) with n = 2 and $4a_2(x) - a_1(x)^2 \neq 0$. Write $a_2(x) - a_1^2(x)/4$ into irreducible polynomials in $\mathbb{C}[x]$ as in (4). Then f(x) and $a_1(x)$ are as in the statement (a.1) of Theorem 1.

Proof. It follows from Lemma 1 that $K(x, y) = K_0(x) + K_1(x)y$ with $K_1(x) = -2$ and $K_0(x)$ and g(x) as in the statement of Lemma 1 with n = 2. Computing the independent term (coefficient of y^0 in (5)) we get

$$-g(x)a_1(x) = (a'_1(x) + a_1(x) - 2f(x))a_2(x).$$
(6)

Introducing the value of g(x) obtained in Lemma 1 in (12) we obtain

$$a_1(x)^3 + a_1(x)^2 a'_1(x) - 4a_1(x)a_2(x) - 2a'_1(x)a_2(x) - a_1(x)a'_2(x) + (4a_2(x) - a_1(x)^2)f(x) = 0.$$
(7)

Since by hypothesis $a_2(x) \neq a_1^2(x)/4$, we have that

$$f(x) = -\frac{a_1(x)^3 + a_1(x)^2 a_1'(x) - 4a_1(x)a_2(x) - 2a_1'(x)a_2(x) - a_1(x)a_2'(x)}{4a_2(x) - a_1(x)^2}$$
$$= \frac{a_1'(x)}{2} + a_1(x) + \frac{1}{4}a_1(x)\frac{(a_2(x) - a_1(x)^2/4)'}{a_2(x) - a_1^2(x)/4}.$$

Taking into account that f(x) must be a polynomial, we must have that expanding $a_2(x) - a_1^2(x)/4$ in irreducible factors in $\mathbb{C}[x]$ as in (4), then there exists $Q(x) \in \mathbb{C}[x]$ such that f(x) and $a_1(x)$ are as in the statement (a.1) of Theorem 1. This concludes the proof of the lemma.

Lemma 3. Assume that the Kukles system (1) has an invariant algebraic curve F(x, y) = 0 of the form (2) with $n \ge 3$ and $(1-n)a_1(x)^2 + 2na_2(x) \ne 0$. Then f(x) is as in the statement (a.2) of Theorem 1.

Proof. It follows from Lemma 1 that $K(x, y) = K_0(x) + K_1(x)y$ with $K_1(x) = -n$ and $K_0(x)$ and g(x) as in the statement of Lemma 1. Computing the coefficient of y^{n-2} in (5) we get

$$a'_{3}(x) - (n-3)a_{3}(x) - (n-2)f(x)a_{2}(x) - (n-1)g(x)a_{1}(x)$$

= $-na_{3}(x) + (a'_{1}(x) + a_{1}(x) - nf(x))a_{2}(x),$

and so

$$a'_{3}(x) + 3a_{3}(x) + 2f(x)a_{2}(x) - (n-1)g(x)a_{1}(x) = (a'_{1}(x) + a_{1}(x))a_{2}(x).$$
 (8)

Substituting g(x) given in Lemma 1 into (13) we obtain

$$f(x)((1-n)a_1(x)^2 + 2na_2(x)n) + A(x) = 0,$$
(9)

with A(x) as in statement (a.2) of Theorem 1. Taking into account that f(x) is a polynomial, $(1-n)a_1(x)^2 + 2na_2(x)$ must divide A(x). This completes the proof of the lemma.

Lemma 4. Assume that the Kukles system (1) has an invariant algebraic curve F(x, y) = 0 of the form (2) with $n \ge 2$ and $(1-n)a_1(x)^2 + 2na_2(x)n = 0$. Then F(x) is as in statement (b) of Theorem 1 for any arbitrary polynomial $f(x) \in \mathbb{C}[x]$.

Proof. We first study the case n = 2. In this case $4a_2(x) - a_1(x)^2 = 0$ and so $4a'_2(x) = 2a_1(x)a'_1(x)$ implying that (7) is automatically satisfied for any $f(x) \in \mathbb{C}[x]$. Hence,

$$F(x) = y^{2} + a_{1}(x)y + a_{2}(x) = y^{2} + a_{1}(x)y + \frac{a_{1}(x)^{2}}{4} = \left(y + \frac{a_{1}(x)}{2}\right)^{2},$$

yielding the lemma for n = 2.

Now assume $n \geq 3$. Note that from Lemma 1 we have

$$g(x) = -\frac{a_1(x)}{n^2}(a_1(x) + a_1'(x)) + \frac{a_1(x)}{n}f(x).$$
 (10)

We will first show by induction that

$$a_k(x) = \binom{n}{k} \frac{a_1(x)^k}{n^k}, \quad \text{for } k \ge 2.$$
(11)

Note that $a_2(x) = {n \choose 2} a_1(x)^2 / n^2$ by induction hypothesis.

Now we prove it for $a_3(x)$. It follows from (13) after introducing the value of g(x) given in (10) that

$$a_3'(x) + 3a_3(x) - \frac{(n-1)(n-2)}{2n^2}a_1(x)^2(a_1(x) + a_1'(x)) = 0$$

and so

$$a_3(x) = \binom{n}{3} \frac{a_1(x)^3}{n^3}.$$

Assume that (11) holds for until k - 1 and we shall prove it for k.

Computing the coefficient of y^{n-k+1} in (5) we get

$$a'_{k}(x) - (n-k)a_{k}(x) - (n-k+1)f(x)a_{k-1}(x) - (n-k+2)g(x)a_{k-2}(x)$$

= $-na_{k}(x) + (a'_{1}(x) + a_{1}(x) - nf(x))a_{k-1}(x),$

or equivalently, introducing the value of g(x) given in (10),

$$a'_{k}(x) + ka_{k}(x) + \left((k-1)a_{k-1}(x) - \frac{n-k+2}{n}a_{1}(x)a_{k-2}(x)\right)f(x) + \left(\frac{n-k+2}{n^{2}}a_{1}(x)a_{k-2}(x) - a_{k-1}(x)\right)(a_{1}(x) + a'_{1}(x)) = 0$$
(12)

Note that by induction hypotheses we have

$$(k-1)a_{k-1}(x) - \frac{n-k+2}{n}a_1(x)a_{k-2}(x)$$

= $(k-1)\binom{n}{k-1}\frac{a_1(x)^{k-1}}{n^{k-1}} - (n-k+2)\binom{n}{k-2}\frac{a_1(x)^{k-1}}{n^{k-1}} = 0$

and

$$\frac{n-k+2}{n^2}a_1(x)a_{k-2}(x) - a_{k-1}(x) = \frac{k-1-n}{n}a_{k-1}(x)$$
$$= -\frac{n-k-1}{n}\binom{n}{k-1}\frac{a_1(x)^{k-1}}{n^{k-1}} = -k\binom{n}{k}\frac{a_1(x)^{k-1}}{n^k},$$

and so (12) becomes

$$a'_{k}(x) + ka_{k}(x) - k\binom{n}{k} \frac{a_{1}(x)^{k-1}}{n^{k}} (a_{1}(x) + a'_{1}(x)) = 0,$$

which yields

$$a_k(x) = \binom{n}{k} \frac{a_1(x)^k}{n^k}.$$

So the induction hypothesis holds.

Computing the term of degree y^0 in (5) we get

$$-g(x)a_{n-1}(x) - (a_1'(x) + a_1(x) - nf(x))a_n(x)$$

= $\left(\frac{a_1(x)}{n^2}(a_1'(x) + a_1(x)) - \frac{a_1(x)}{n}f(x)\right)\binom{n}{n-1}\frac{a_1(x)^{n-1}}{n^{n-1}}$
- $(a_1'(x) + a_1(x) - nf(x))\binom{n}{n}\frac{a_1(x)^n}{n^n}$
= $\left(\frac{1}{n}(a_1'(x) + a_1(x)) - f(x)\right)n\frac{a_1(x)^n}{n^n} - (a_1'(x) + a_1(x) - nf(x))\frac{a_1(x)^n}{n^n} = 0$

which is automatically satisfied.

Therefore for any $f(x) \in \mathbb{C}[x]$ and g(x) given in (10) the unique possible invariant algebraic curve is

$$F(x) = \sum_{k=0}^{n} a_k(x) y^{n-k} = \sum_{k=0}^{n} \binom{n}{k} \frac{a_1(x)^k}{n^k} y^{n-k} = \left(y + \frac{a_1(x)}{n}\right)^n.$$

This completes the proof of the lemma.

Proof of Theorem 1. The proof of Theorem 1 (a) follows from Lemmas 1, 2 and 3. The proof of Theorem 1 (b) follows from Lemma 4. \Box

3. Proof of Proposition 2

It follows from (7) that the function f(x) has degree at most 2 in the variable x. We write it as $f(x) = b_0 + b_1 x + b_2 x^2$. Introducing it into (5) with $K_1 = -2$, $K_0 = a'_1(x) + a_1(x) - 2f(x)$ and $g(x) = (-a_1a'_1(x) + a'_2(x) - a^2_1(x) + 2a_2(x) + a_1(x)f(x))/2$ we get that equation (5) multiplied

by 2 becomes

$$\begin{aligned} a_{10}^{3} + a_{10}^{2}a_{11} - 4a_{10}a_{20} - 2a_{11}a_{20} - a_{10}a_{21} - a_{10}^{2}b_{0} + 4a_{20}b_{0} \\ &+ (3a_{10}^{2}a_{11} + 2a_{10}a_{11}^{2} + 2a_{10}^{2}a_{12} - 4a_{11}a_{20} - 4a_{12}a_{20} - 4a_{10}a_{21} \\ &- 3a_{11}a_{21} - 2a_{10}a_{22} - 2a_{10}a_{11}b_{0} + 4a_{21}b_{0} - a_{10}^{2}b_{1} + 4a_{20}b_{1})x \\ &+ (3a_{10}a_{11}^{2} + a_{11}^{3} + 3a_{10}^{2}a_{12} + 6a_{10}a_{11}a_{12} - 4a_{12}a_{20} - 4a_{11}a_{21} \\ &- 5a_{12}a_{21} - 4a_{10}a_{22} - 4a_{11}a_{22} - a_{11}^{2}b_{0} - 2a_{10}a_{12}b_{0} + 4a_{22}b_{0} \\ &- 2a_{10}a_{11}b_{1} + 4a_{21}b_{1} - a_{10}^{2}b_{2} + 4a_{20}b_{2})x^{2} + (a_{11}^{3} + 6a_{10}a_{11}a_{12} - 4a_{12}a_{20} - 2a_{11}a_{12}b_{0} \\ &- a_{11}a_{12} + 4a_{10}a_{12}^{2} - 4a_{12}a_{21} - 4a_{11}a_{22} - 6a_{12}a_{22} - 2a_{11}a_{12}b_{0} \\ &- a_{11}^{2}b_{1} - 2a_{10}a_{12}b_{1} + 4a_{22}b_{1} - 2a_{10}a_{11}b_{2} + 4a_{21}b_{2})x^{3} + (3a_{11}^{2}a_{12} + 3a_{10}a_{12}^{2} + 5a_{11}a_{12}^{2} - 4a_{12}a_{22} - a_{12}^{2}b_{0} - 2a_{11}a_{12}b_{1} - a_{11}^{2}b_{2} \\ &- 2a_{10}a_{12}b_{2} + 4a_{22}b_{1} - 2a_{10}a_{11}b_{2} + 4a_{21}b_{2} - a_{12}^{2}b_{1} - 2a_{11}a_{12}b_{1} - a_{11}^{2}b_{2} \\ &- 2a_{10}a_{12}b_{2} + 4a_{22}b_{2})x^{4} + a_{12}(3a_{11}a_{12} + 2a_{12}^{2} - a_{12}^{2}b_{1} - 2a_{11}b_{2})x^{5} \\ &+ a_{12}^{2}(a_{12} - b_{2})x^{6} = 0. \end{aligned}$$

We consider two cases: either $a_{12} \neq 0$ and $b_2 = a_{12}$, or $a_{12} = 0$.

In the first case, imposing $b_2 = a_{12}$ and $a_{12} \neq 0$ in (13), we obtain readily the solution in statement (a) of the proposition.

In the second case, imposing $b_2 = 0$ in (13) and using that $4a_2(x) - a_1(x)^2 \neq 0$ we get that $b_2 = 0$, $b_1 = a_{11}$ and (13) becomes

$$(a_{10}^3 + a_{10}^2 a_{11} - 4a_{10}a_{20} - 2a_{11}a_{20} - a_{10}a_{21} - a_{10}^2 b_0 + 4a_{20}b_0) + (2a_{10}^2 a_{11} + 2a_{10}a_{11}^2 - 4a_{10}a_{21} - 3a_{11}a_{21} - 2a_{10}a_{22} - 2a_{10}a_{11}b_0 + 4a_{21}b_0)x + (a_{11}^2 - 4a_{22})(a_{10} + a_{11} - b_0)x^2 = 0.$$
 (14)

We have two possibilities: either $a_{22} = a_{11}^2/4$, or $b_0 = a_{10} + a_{11}$.

If $a_{22} = a_{11}^2/4$ then (14) becomes

$$(a_{10}^3 + a_{10}^2 a_{11} - 4a_{10}a_{20} - 2a_{11}a_{20} - a_{10}a_{21} - a_{10}^2b_0 + 4a_{20}b_0) + \frac{1}{2}(a_{10}a_{11} - 2a_{21})(4a_{10} + 3a_{11} - 4b_0)x = 0,$$

and we have two possible solutions: either $a_{21} = a_{10}a_{11}/2$, or $b_0 = (4a_{10} + 3a_{11})/4$. In the first case we get the solution as in statement (b.1) in the proposition. In the second case we get the condition $a_{10}^2a_{11} + 4a_{11}a_{20} - 4a_{10}a_{21} = 0$. Taking into account that f(x) is not the zero polynomial, we obtain the solutions (b.2) and (b.3) as in the statement of the proposition.

If $b_0 = a_{10} + a_{11}$, then (14) becomes

$$(2a_{11}a_{20} - a_{10}a_{21}) + (a_{11}a_{21} - 2a_{10}a_{22})x = 0.$$

Taking into account that f(x) is not the zero polynomial, we get the two solutions (b.4) and (b.3) as in the statement of the proposition. This concludes the proof of the proposition.

Acknowledgements

The first author is partially supported by the Agencia Estatal de Investigación grant PID2019-104658GB-I00, and the H2020 European Research Council grant MSCA-RISE-2017-777911. The second author is partially supported through CAMGSD, IST-ID, projects UIDB/04459/2020 and UIDP/04459/2020.

References

- C. Christopher and J. Llibre, Algebraic aspects of integrability for polynomial systems, Qual. Theory Differential Systems 1 (1999), 71–95.
- [2] C. Christopher, J. Llibre, C. Pantazi and X. Zhang, Darboux integrability and invariant algebraic curves for planar polynomial systems, J. of Physics A 35 (2002), 2457–2476.
- [3] C. Christopher, J. Llibre and J.V. Pereira, Multiplicity of invariant algebraic curves in polynomial vector fields, Pacific J. of Math. 229 (2007), 63–117.
- [4] G. Darboux, Mémoire sur les équations différentielles algébriques du premier ordre et du premier degré (Mélanges), Bull. Sci. math. 2ème série 2 (1878), 60–96; 123–144; 151–200.
- [5] J. Giné and J. Llibre, A characterization of the generalized Liénard polynomial differential systems having invariant algebraic curves, to appear in Chaos, Solitons & Fractals.
- [6] J.P. Jouanolou, Equations de Pfaff algébriques, in "Lectures Notes in Mathematics," 708, Springer-Verlag, New York/Berlin, 1979.
- [7] J. Llibre and X. Zhang, Darboux Theory of Integrability in \mathbb{C}^n taking into account the multiplicity, J. of Differential Equations **246** (2009), 541–551.
- [8] J. Llibre and X. Zhang, Darboux theory of integrability for polynomial vector fields in Rⁿ taking into account the multiplicity at infinity, Bull. Sci. Math. 133 (2009), 765–778.
- [9] J. Llibre and X. Zhang, Rational first integrals in the Darboux theory of integrability in Cⁿ, Bull. Sci. Math. **134** (2010), 189–195.
- [10] M.J. Prelle and M.F. Singer, *Elementary first integrals of differential equations*, Trans. Amer. Math. Soc. **279** (1983), 613–636.
- [11] M.F. Singer, Liouvillian first integrals of differential equations, Trans. Amer. Math. Soc. 333 (1992), 673–688.

¹ Departament de Matematiques, Universitat Autònoma de Barcelona, 08193 Bellaterra, Barcelona, Catalonia, Spain

Email address: jllibre@mat.uab.cat

² Departamento de Matemática, Instituto Superior Técnico, Universidade de Lisboa, Av. Rovisco Pais 1049–001, Lisboa, Portugal

Email address: cvalls@math.ist.utl.pt